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B AWEIXRIFEBEE 17 % TbhEL B AWEEIBESEE 10 % TN
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fh H FEEM | B A | & E %z B Bh H FEEM | B | & E Z B
T4 K% 200 g - 54 32 | HEADA — — — —
LA7% = B 200 g 108 32 HU H & | 10 ke 4, 320 2, 592
ZEDN & [ 200 g 54 32 | TAINLE— = B 270 g 248 —
E5NAE D & [ 200 g 97 86 | DD = B 270 g 280 64
HFh& | m A 150 g 54 — | HEREE = B 270 g 432 216
Lo AEL K K 180 g 75 — F—rz2AT = 9 ke| 10, 800 =

— — — — — | TV RE A 15 ke 6, 480 2, 160
2N A Sl 10 ke 1,188 756 | |
Tz A T A m O 10 ke 1,728 1, 296
ESYA KW 15 kg| - 1,080 756
X p Y = A 10 ke 1,728 1, 080
L E A Tt E 10 ke 2, 700 1,728
EwdHD w5 5 ke| 1,728 -
Aoch = A 5 ke 2, 160 1,728
h= h g A 4 ke 1,512 1, 404
P = 150 g 64 =
EzZzhES FOaK L 2 ke 2,376 1,296 |
Tz m B 9 ke 3, 780 —
Fho Lok BIRE 10 ke 2,916 2, 160
FmERE It & 10 ke 4, 320 4, 104
A LW B 100 g 135 70
LT £ B 100 g 59 27
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fit » y=:\ f H +
& z FEEM | B O | B & [ e g FEEEN | B | B OB | B Mo
A S AHHE AP A7 1 kg 1,836 1,188 | Y4 F U 1 kg 2, 592 -1, 080
HESAE R 1 ke 1, 296 1,047 | ¥EHX IV o 1 kg 1, 080 432
7Y ® IF 1 ke 3, 240 216 | ¥ T = =R 1 kg 2, 160 972
P 5 B 1ke 2, 268 216 | i | FOER L 1 kg 1,058 -
AT T 1 ke 324 97 | FU A = E 1 ke 3, 456 1, 188
ANALH A lke | 1,015 810 | BAFH < e[ R3E] 14 | 248 54
BT IR 1 ke 1, 458 108
&7 A = 1lke 1,144 . 540
&4 = ™ B 1 ke 2, 700 324
INTE FOER L 1ke 1,944 540
vy, t 1 ks 1,728 572
FA K — — — —
B A BIRE 1 ke 1, 836 216
E7Y IR 1ke 2,214 1,188
X B 1 ke 2, 700 540
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